HE B8R T KB

HRIEZ AR SRS 1 (mm)

EE T O == W = B I SR < S} iU IS S wooE fE AT i
EIEGEREEE TS h £30 T LAE 2 200mI > LA EL Fol w
811 B =50 €,
| = v
T|H [N
;g T BRI Y +30 T T4 5 200mIZ 5% 1B o L
= iE.
8-1-2 [k ARV +30 JEVER, FDERO N RO I,
(1283 T E) RO R OKF) +50 i THER: 100mIZ S L FTLL LT
AR B 20% |
e — 0 /500 Ao |EERIE, i LAER100mic>F 1M
R 0 1200 PR, )
R LA
THEE L 500 JER L, = AR VA RIE,
[SiE] HEHERV +30 Ty, TR L KT 1,
(FL% v AR) TR EIL ) +50 H L& 51 00mIZ- > 1 EHT L LB
LRl AT AR 20% |
e — 0 /500 Ao |EERIE, i LAER100mic>F 1M
R 0 1200 PR, )
oy S
THEE L 500 JER L, = AR VA RIE,
R iV +30 T TAE R 100mIc > 1T O A
LR ZERL KT £50 THIETS,
RIER 200
8-1-3  [WJILnE iRV +30 i THER100miZ & LATEL L]
T B 50 EY D,
[ -30
et JERE EiEEV +30 i TAE R 100mIZ> X 1EATEL Ell
b 50 D
[ -30
eI S HESY +30 Ji LAE 5 100mi” > L FTLA L
b =30 D
[ -30
Fo L5 e i LIER100miZ->E 1Ll Ll
EXCER=F 1 STy +30 iﬂ*j-éﬁ m|(ZOE TG LL L
FUZHRA Rl HEEEYV +30 5 THE R 100mic > LT ol L
i b =30 ET 2.
JE& h =30
8-1-4  |BISFT/KEL EEmV +30 JEAE, TPLABROZENL UK T 1
TLROENL KT £50 HLSE 5 100mIZ- > 1L LB f.onogd
& b =30 e i S
S h +30
JES h -20 =
Al X AR £ 20% *.
=0 /500 73> [RERIE, i TAER100mIZ->E 16
SER 0 00 |PPRLEE o s
TR L =300 JER L, v R— VR E,
8-1-5 [ RA -8 FEHEE YV +50 i CHER 100mIZ S X L. L] i
BAE L BRI L |75
ER0A 100 100mA{#IE, i TiEpTc>%2
FEFFHIES 2,

-52 -




8w T KERR

HRIEZ AR SRS 1 (mm)

%,

*F 5 T i WoE A | B s HooE K % wooE &P i
& [Lge 21 |[BEL T =50 TE 5 T OARO TN UK T .
s| 2 T OROEL KT 50 B TAE R 100mic->2 15T B L)
®| - 5 EA AR o0% |5
3 — 0 /500 Ao |FER L, i LAER 100mic > 1t
Tl A R 0 +200 FrLA LR,
K RIEER L 200 HERLL, ~ b AR RIE,
|/
w| 0
S22 |ERT LAY £50 TEAER, RO T AL IERIE, T ”
7 T b ~30 E@E]OOm(Z“D%T%%HL?ﬁU
S h =30 = S
I 1 HER T, < a— L e LTI,
. FLOTH +50
SER -50
g )i AR AT AL+ 20%
E [64-1 [ET TG Y +50 TEER . TR UK (3.
2 BT A R200 7T HEEBTH
= RO ZERE (K T) +100 e
- 5 N AR L ERE T
5 WEE 0 0 /a{OO no [EREUI~ AL ERET D,
| +200
L WRIER L -200
N
8-4-2 | T ez FEvER OO KT | —
T WY +50 WIS, H LADPSRe i TAE
F100miz > 1fEFTLL -HlE,
OO KT +50
ZWRIB TR, B A4S EE
SRR ¢ %0 Ti’iﬁ o] A AR E
fh E2NEE D +20
(sl R AT AR £ 20%
WEE 0 - 0 /500 2o [HERE~AR—LRERET S,
+200
FIER L -200
% [8-5-1 [~ HR—/L L HHEE Y +30 SILIZ O 1L EE,
5 B b (NE) 30 ST, = R — RO K s
= BEE t -20 e
ALK i +30
~
v
=
|
)7 _ - —
T Bt~ AR — LIS T KRV +30 SIS 1EFTLL LAE,
ER +30
JERETHE BI -50
JEREL & hl -30
27— TiE B2 -30
2v))—bTE h2 -10
8-5-2 |[fSi~rR—/L T RV +30 SEAC O X 1A LA EMIE, oL
IR +30 %E%Mi‘ ~ VAR VR D R i e =
%
8-5-3 |V~ h— T, FEEEYV +30 SEAC O X 1A LA EMIE, G
NALR i +30 FHEEIT, v — VRO Rifim & N

- 53 -




8w T KERR

HRIEZ AR SRS 1 (mm)

*F 5 T i WoE A | B s i =S S wooE &P i =
[ [ [6-6-1 |55t RN AL LV +30 SIEIC o= LEITOL e, :
8|6 & b -30 i o
w|E WX h +30
. B ¢ -20

: e +30
& | NALR S
E| <
|

I

|

V%

I (8-6-2 [{REHEL=- K RV +30 SR O 1A LA LHIE,

= T [FIGED) +30
EE h +30
EXt -20
8-6-3 [{REHLF T eV +30 SIIZ 1P EHIE,
LR AL +30
8-6-4 |BhifitE (FRZKM:=) I FEEE L, PR LW A
HEEEV +10 W=,
% b (£X) +20 WG, EHE, FERIE, S T EATIC 16
B= h(ES) +30 AL EIES 2,
JER L(RS) -20
kAR 7 ik FEHER +30 SIEIC X1 RTLL EHIE,
I, B B -30
YRS h -30
BEJE ¢ -20

% [8-7-1 [AdEET FTE h +30 SIS E 1AL BT, o

7

=

H

it

&

)3

6

* [8-7-2 [Wuf+E JES (L) -200 SIHIZ S TRFLL EHNE.

¥

T

% [8-11-1 |3z JLHEE +30 SILIZ O AT LB, st

1 <1 B +100

1 TR +30

= h

i

b1

I

SEHUET JEERV +30 SEAC O X 1A LA EMIE, e
W SR b1 -50
A SRR L1 -30
R 7Y~ M EHE +30
JE 27 —MiEb2 -30 3 |—%
JEfR 7Y —NE L2 -10 | Rzl
=

- 54 -




